Use the DCT to Compute the DFT for Even
Inputs
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#include <cstdlib>
#include <icstream:
#include <cmath>

#define PI 3.14159265358979323846
#define N_Z
using namespace std;
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int main(int argc, char *argv[])

float x_n[N] = {1@, 1, 5, 2.5 , 2.5 , 5, 1};
float ans_n[N];
int Q =N/ 25

for(int i=8; i<N ji++){
ans_n[i] = @;
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35561+48.

input:

[1e, 1, 5, 2.5, 5, 1]

output:

[24.5+8. ] 3.5+B.j 6.5+B.j 15.5+8.7 6.548.j 3.5+8.7]

7.8194746148.7 6. 81178441+B il
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o BIAEMEX[N] = x[N-n] , BANAER S EDFTH4E RAFH
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o NEFHH , [R7Tx_n[0)5 , Herm N\ EEZMMAESE

o NEBZEF , (7T x_n[0]F1x_n[N/2]4h , E b\ FEZRMAELS



